








UIL ACCOUNTING


Regional A-9783





Group 1


Using terms from the following list, complete the sentences below in items 1 through 17.  Write the identifying letter of the best response on your answer sheet.   Each term may be used only once.





A. accounts receivable		F. footing				L. sales journal


        subsidiary ledger		G. inventory				M. sales slip


B. charge customer			H. merchandise			N. sales tax


C. controlling account		 I. merchandising business		O. special journal


D. credit card				J. retailer				P. subsidiary ledger


E. credit terms (terms of sale)	K. sale on account			Q. wholesaler








  1. When special journals are used, the sale of merchandise on account is recorded in


	the __?__.


  2. Charge customer accounts are found in the __?__.


  3. A charge customer is entitled to charge merchandise with a(n) __?__  which is 


	imprinted with the customer’s name and account number.


  4. A(n) __?__ is a business that sells to the final user (or consumer).


  5. The sale of goods for which cash will be received at a later date is called 


	a(n) __?__.


  6. A column total written in small pencil figures is called a(n) __?__.


  7. The balance of a(n) __?__ and the total of all the account balances in the


	subsidiary ledger must be equal (must be in balance).


  8. A(n) __?__ is summarized in a controlling account in the general ledger.


  9. A form that lists the details of a sale and is used as a business’s record of the


	transaction is a(n) __?__.


10. The __?__ set out the time allowed for payment.


11. A(n) __?__, which simplifies the journalizing and posting process, has special


	columns that are used for recording specific types of business transactions.


12. Many states and some cities require that a business add a(n) __?__, or a


	percentage of the selling price of the goods, at the time of a sale.


13. The goods a merchandising business buys for resale to customers are known 


	as __?__.


14. A(n) __?__ buys goods and then resells them to a customer for a profit.


15. A(n) __?__ is a customer to whom a sale on account is made.


16. The items of merchandise a business has in stock (on hand) for sale to customers


	are referred to as __?__.


17. A(n) __?__ is a business that sells to retailers.
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Group 2


An accountant for The Mediterranean Company was reviewing the work sheet completed by the company’s bookkeeper.  All information was correct and properly totaled except that some of the column subtotals and totals had been erased.  The known subtotals on the work sheet before the net income (or loss) was calculated were as follows:





					Income Statement Debit	$174,200


					Income Statement Credit	$157,620


					Balance Sheet Credit	$  80,740





Answer questions 18 through 20 by writing the correct amount on your answer sheet.





18. What is the balance sheet debit column subtotal before net income or loss is 


	calculated?





19. What is the balance sheet debit column total after net income or loss is calculated?





20. What is the balance sheet credit column total after net income or loss is calculated?


	





Group 3


Questions 21 through 27 refer to the accounting for uncollectible accounts receivable.  On your answer sheet, write “true” if the statement is true; write “false” if the statement is false.





21. When a company uses the direct write-off method, the Allowance for Uncollectible 


	Accounts will have a credit balance.


22. With the direct write-off method, an account is written off by debiting Bad Debts


	Expense or Uncollectible Accounts Expense.


23. If a company uses the direct write-off method to write off an account as 


      uncollectible, then later collects that account, the account receivable must be


      reinstated with a debit to Accounts Receivable and a credit to Allowance for 


      Uncollectible Accounts.


24. Before reinstating a charge customer’s account, the receipt of cash to pay off the 


	amount owed must be journalized.


25. The book value of accounts receivable is the difference between the balance of 


	Accounts Receivable and the balance of Allowance for Uncollectible Accounts.


26. Allowance for Uncollectible Accounts is classified as a contra asset account and 


	appears on the balance sheet as a deduction from Accounts Receivable.


27. Charge customer accounts that are declared uncollectible become a liability to the 


	business.
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Group 4


The following data pertains to a single inventory item for Mervin Gardens Company.





�
�
�
Number of


Units�
Cost per Unit�
�
July�
1�
Beginning Inventory�
840�
2.00�
�
�
7�
Purchase�
360�
2.00�
�
�
10�
Sales�
(710)�
�
�
�
14�
Purchase�
400�
2.10�
�
�
15�
Sales�
(250)�
�
�
�
20�
Sales�
(330)�
�
�
�
21�
Purchase�
520�
2.20�
�
�
25�
Sales�
(690)�
�
�
�
30�
Purchase�
740�
2.20�
�
�
31�
Sales�
(420)�
�
�



For questions 28 through 34, write the correct amount for each on your answer sheet.





28. Using the periodic inventory system and the FIFO inventory costing method, what is 


	the cost of the ending inventory?


29. Using the periodic inventory system and the FIFO inventory costing method, what is 


	the cost of merchandise sold?


30. Using the periodic inventory system and the LIFO inventory costing method, what is 


	the cost of the ending inventory?


31. What is the total cost of merchandise available for sale for the month of July?


32. What is the cost per unit of the merchandise available for sale for July using the


	weighted-average method? (You must round the cost per unit to the nearest cent.) 


33. If the sales price remained constant at $3.75 per unit in July, what is the amount of 


	gross profit using the LIFO inventory costing method?


34. What is the cost of merchandise sold using the specific identification method for 


	inventory costing if the ending inventory consisted of:


		   		  20 units purchased before July 1


		   		  60 units purchased on July 7


		 		210 units purchased on July 14 


		 		170 units purchased on July 30





Group 5


Indicate whether each of the following is debited or credited during the closing process or whether the account or item is not closed.  Write the correct answer on your answer sheet using the following code:  DR=debit  CR=credit  NC=not an item to be closed





35. Accumulated Depreciation—Buildings	40. Depreciation Expense


36. Allowance for Uncollectible Accounts	41. Purchases Discounts


37. Income Summary (net income)		42. Cost of Merchandise Sold


38. Sales Returns & Allowances			43. Sales


39. the partner’s drawing account			44. Prepaid Insurance
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Group 6


Use the following information (arranged in alphabetical order) to answer questions 45 through 50.  Write the correct amount on your answer sheet.





beginning inventory�
                ?�
�
cost of delivered merchandise�
97,950�
�
cost of merchandise available for sale�
120,950�
�
ending inventory�
              ?�
�
gross profit�
47,250�
�
net purchases�
92,550�
�
net sales�
143,180�
�
purchases�
               ?�
�
purchases discounts�
               ?�
�
purchases returns and allowances�
3,500�
�
sales�
150,800�
�
sales discounts�
                ?�
�
sales returns and allowances�
4,520�
�
transportation in�
1,570�
�



45. What is the amount of beginning inventory?


46. What is the amount of ending inventory?


47. What is the amount of purchases?


48. What is the amount of purchases discounts?


49. What is the amount of sales discounts?


50. What is the amount of cost of merchandise sold?





Group 7


For questions 51 and 52, write the correct amount on your answer sheet.





51. The following information is found on a correctly completed work sheet for the year 


	ended December 31, 1997 on the line for Office Supplies on Hand:


			Adjustments credit		$3,822


			Balance Sheet debit	$   815


	If the January 1, 1997 balance of Office Supplies on Hand was $795, what is the 


	amount of supplies purchased during 1997?





52. The following information is found on a correctly completed work sheet for the year 


	ended 12-31-97 and in the general ledger for Prepaid Insurance.  (All premiums are 


	debited to Prepaid Insurance when policies are purchased.)





		Insurance Expense, work sheet Income Statement Debit column $6,060


		Prepaid Insurance balance on 1-1-97   $1,200


		Insurance premiums paid during 1997   $6,400





	What is the amount of Prepaid Insurance written on the work sheet in the balance


       sheet column?
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Group 8


For questions 53 through 56, write the identifying letter of the best response on your answer sheet.





53. The cash account of Ventnar Company in the general ledger had a balance of 


	$1,432 on July 31.  This included a bank deposit of $143 that was in transit on 


	July 31.  Outstanding checks were $264.  The bookkeeper made a journal entry 


	and check register error causing the cash account to be overstated by $39.  The 


	July 31 bank statement indicated the service charge for July was $15.  What is the 	bank statement balance on July 31?


	A. $1,296          B. $1,311          C. $1,335          D. $1,378          E. $1,499





54. An overstatement of ending inventory in one period results in


	A. no effect on net income of the next period


	B. an overstatement of net income of the next period


	C. an understatement of net income of the next period


	D. an overstatement of the ending inventory of the next period





55. Park Street Company had the following assets and liabilities at the beginning and at


	the end of a year:


								 Assets	Liabilities


			Beginning of year……………..	$67,000	  $14,000


			End of year…………………….	  78,000	    17,000


	


	Determine the net income or net loss during the year under the assumption that the


	owner had withdrawn $1,600 from the business each month to pay living expenses


	and had invested an additional $10,000 in the business by year-end.


	A. $1,200 net loss		D. $51,800 net income


	B. $8,000 net income		E. some other amount


	C. $17,200 net income	





56. Plankwalk Co. was destroyed completely by fire on May 31, 1997.  The following


	information was the only record that could be salvaged:





			Inventory, January 1, 1997………….  $	28,000


			Purchases……………………………..   	16,000


			Transportation-In……………………..      	  1,000


			Sales…………………………………..     	55,000 


			Sales returns………………………….            700





	Plankwalk Co.’s average gross profit percentage was 35%.  What was the 


	estimated value of the May 31, 1997 inventory that was lost?


	A. $9,705          B. $25,995          C. $29,250          D. $44,000          E. $45,000
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Group 9


Refer to the data in Table 1 on page 9.  You may remove the table page from the staple for convenience.  Analyze each of the transactions into debit and credit parts.  Using the account titles chart below, write the identifying letter of the correct response for items 57 through 64 on your answer sheet.





	A. Accounts Receivable			D. Sales


	B. Allowance for Uncollectible Accounts	E. Sales Returns & Allowances


	C. Cash						F. Uncollectible Accounts Expense





											Debit		Credit


The entry of January 19………………………………………………….   #57               #58





The entry of March 28 (the reinstatement of the account has


	already been journalized.)…………………………………………..   #59		  #60





The entry to reinstate an account after it had been previously


	written off………………………………………………………………  #61		  #62





The adjusting entry of December 31…………………………………….  #63		  #64








Again refer to the data in Table 1.  For questions 65 through 67, write the identifying letter of the best response on your answer sheet.





65. The balance in the Accounts Receivable account on 12-31-97 after all 1997 


	transactions and adjusting entries have been posted is:


	A. $18,851.87		D. $22,775.85


	B. $21,138.03		E. $24,135.97


	C. $21,493.92		F. $25,417.90





66. The balance in the Allowance for Uncollectible Accounts on 12-31-97 after all 1997 


	transactions and adjusting entries have been posted is 


	A. $   984.95		D. $3,923.98


	B. $1,736.48		E. $4,908.93


	C. $2,187.50		F. $6,111.48





67. Consider the same information above for Baltic Co. except instead of calculating 


	uncollectible accounts expense by the net sales method, Baltic Co. uses the aging 


	of accounts receivable method.  The aging of accounts receivable shows the 


	estimated uncollectible amount as of 12-31-97 to be $4,200.  In this case the 


	balance in the Allowance for Uncollectible Accounts on 12-31-97 after all 1997 


	transactions and adjusting entries have been posted is:


	A. $   984.95		D. $3,215.05


	B. $2,012.50		E. $3,923.98


	C. $2,187.50		F. $4,200.00
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Group 10


Refer to the data in Table 2 on page 10.  You may remove the table page from the staple for convenience.  For questions 68 through 80, write the identifying letter of the best response on your answer sheet.  (The plant asset records will not be reviewed by the contest director or graders.)





68. The amount that should be debited to the Farm Equipment account in 1997 is


	A. $20,000          B. $21,000          C. $22,000          D. $53,000          E. $57,000





69. The estimated annual depreciation amount for the cultivator is


	A. $1,000.00       B. $3,000.00       C. $3,142.86       D. $4,400.00       E. $8,800.00





70. The depreciation adjusting entry includes a


	A. debit to Accumulated Depreciation—Farm Equipment


	B. credit to Expired Assets


	C. debit to Farming Expense


	D. credit to Accumulated Depreciation—Farm Equipment





71. After the adjusting entries are posted to the general ledger, Depreciation Expense—


	Farm Equipment will have


	A. a zero balance				C. a debit balance


	B. either a debit or credit balance		D. a credit balance


	


72. After the adjusting entries are posted, the Farm Equipment account will have a


	A. debit balance equal to the original purchase price less the disposal value


	B. debit balance equal to the original purchase price less the amount of


		accumulated depreciation


	C. debit balance for the amount of the depreciation


	D. debit balance equal to the original purchase price of the assets


	E. credit balance for the amount of the accumulated depreciation





73. After the closing entries are posted, the Accumulated Depreciation—Farm 


	Equipment account will have


	A. a zero balance		C. a credit balance


	B. a debit balance		D. either a debit or credit balance


	


74. When the tractor was purchased, the following entry was made assuming a


	credit of $35,000 was made to the Cash account:





					Accumulated Depreciation		Depreciation Expense 


		Farm Equipment	        Farm Equipment		      Farm Equipment


	A.   debit $35,000		credit 	$3,000			no entry


	B.   debit $32,000		debit 	$3,000			no entry


	C.   debit $35,000		     no entry				no entry


	D.   debit $32,000		     no entry			       debit $3,000
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75. The amount of depreciation expense to be taken on the cultivator in 1997 is


	A. $1,000	B. $1,250	C. $1,750	D. $2,000	E. $3,000





76. The amount of depreciation expense to be taken on the tractor in 1997 is


	A. $4,480	B. $4,608	C. $5,040	D. $6,400	E. $7,000





77. The balance in the Accumulated Depreciation—Farm Equipment account after


	all adjusting entries for 1999 have been posted will include:


		         Cultivator       	    Tractor


	A.        $  8,000.00	$32,278.40				


	B.        $  8,000.00	$32,000.00


	C.        $13,000.00	$32,000.00


	D.        $  8,000.00	$25,088.00





78. The book value of the tractor after all adjusting entries have been posted for these


	time periods are:


		    	 12-31-98	12-31-99


	A. 	$4,147.20	$3,000.00


	B. 	$4,147.20	$2,488.32


	C.		$4,536.00	$3,000.00


	D. 	$4,536.00	$2,721.60





79. What will be the final year to take any amount of depreciation on each of the 


	assets?


			Cultivator	Tractor


	A. year:	    2002	  2000


	B. year:	    2003	  1999


	C. year:	    2004	 infinity


	D. year:      2004	  1999





80. If the tractor had been sold on 12-31-96 for $15,000 the gain or loss on the sale


	would have been:


		    Amount	Gain or Loss


	A.     $5,480	       Loss	


	B.     $7,400	       Loss


	C.     $2,400             Gain


	D.     $3,480             Gain














THIS IS THE END OF THE EXAM.  PLEASE HOLD YOUR ANSWER SHEET AND EXAM UNTIL THE CONTEST DIRECTOR CALLS FOR THEM.   THANK YOU!
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TABLE  1


(for questions 57 through 67)








Baltic Co. uses the allowance method of recording uncollectible accounts expense.  The January 1, 1997 balance of Allowance for Uncollectible Accounts was a credit of $2,187.50.  The following transactions occurred during 1997:





Jan 19    Wrote off Lizzy Borden’s past-due account as uncollectible, $815.40.





Mar 14    Wrote off Dan Poole’s past-due account as uncollectible, $624.10.





Mar 28    Received cash in full payment of Lizzy Borden’s account, previously written


	         off as uncollectible, $815.40.





July 20    Wrote off Lucy Reed’s past-due account as uncollectible, $227.45.





Oct 17	     Wrote off Mable Dunn’s past-due account as uncollectible, $975.10.





Dec 21    Received cash in full payment of Dan Poole’s account, previously written


		     off as uncollectible, $624.10.











Baltic Co. has the following account balances on December 31, 1997 before adjusting entries are recorded:


	


			Accounts Receivable………………….. $ 25,417.90


			Sales……………………………………..  427,987.00


			Sales Discounts…………………………    23,742.00


			Sales Returns & Allowances…………..    11,847.00








Baltic Co. estimates that the amount of uncollectible accounts expense is equal to 1% of net sales.  (Baltic Co.’s policy is to round to the nearest cent when computing estimated uncollectible accounts expense.)
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TABLE  2


(for questions 68 through 80)








PLANT ASSET RECORD





ITEM______Cultivator_______________________  DISPOSAL VALUE__$1,000____





GENERAL LEDGER ACCOUNT ____Farm Equipment__________________________





DEPRECIATION METHOD_____Straight-Line__________    ESTIMATED LIFE_7 yrs_





			ASSET	ACCUMULATED DEPRECIATION		BOOK


  DATE	 COST	DEBIT      CREDIT      BALANCE			VALUE


_5-4-97_   $__22,000___								________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________











PLANT ASSET RECORD





ITEM____Tractor_________________________  DISPOSAL VALUE__$3,000____





GENERAL LEDGER ACCOUNT _____Farm Equipment_______________________





DEPRECIATION METHOD_______DDB____________    ESTIMATED LIFE_5 yrs_





			ASSET	ACCUMULATED DEPRECIATION		BOOK


  DATE	 COST	DEBIT      CREDIT      BALANCE			VALUE


_1-2-95_   $__35,000__								________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


_______			_______   _______    _________			________


